
REPAIR SHEET 
BRAND 

RYOBI
DESCRIPTION

18 Volt Garden HoeMODEL NO.

P29013VNM
MFG. NO.

108798001

TECHTRONIC INDUSTRIES POWER EQUIPMENT
P.O. Box 1288, Anderson, SC 29622    1-800-525-2579    www.ryobitools.com 	 3-13-23 (Rev:01)

The model number and manufacturing location will be found on a label attached to the product. Always mention this information in all communications regarding this product and when ordering parts.



2

P29013VNM

13

15
11

11

14

8 7

6 16

16

16

5

5
5

4

2

3

1
10

12

10

9

KEY NO. PART NO. DESCRIPTION QTY.

1 547170001 Shaft Coupler B 1

2 682703001 Blade 1

3 205009005 Blade Clamp Assembly 1

4 547169001 Shaft Coupler A 1

5 678029009 Nut (M6) 6

6 308991003 Assist Handle & Fastener Assembly 1

7 660643008 Screw (1/4-20 x 1.606) 1

8 518949001 Wing Nut 1

9 205009002 Screw Assembly #1 (Inc. Key No. 5) 2

10 205009003 Screw Assembly #2 (Inc. Key No. 5) 2

11 662462001 Screw (M5 x 10 mm) 2

12 205009004 Screw Assembly #3 (Inc. Key No. 5) 2

13 680002001 Hex Key 1

14 941110111 Data\Icon Label 1

15 941110112 QR Code Label 1

16 940705492 Ryobi Logo Label 3

Not Shown:

999000158 Operator’s Manual

PARTS LIST


